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y′ − ay = xebx , a 6= b

y(x) = z(x)eax davdd i
i lr (`).qltl zxnzd zhiy i
i lr (a)d`eeynd ly illkd oexztd z` `vn (`) .2
y′′ − 2y′ + y =

ex

x dirad oexztl dgqep `vn (a)
y′′ − 2y′ + y = f(x) , y(0) = y′(0) = 0sirqn dgqepa yeniy i
i lr (`) sirqa d`eeynd ly ihxt oexzt `evnl ozip m`d (b)? (a)d`eeynd ly illkd oexztd z` `vn (`) .3

y′′′′′ − 3y′′′ − 4y′ = 0oexzt el yiy mireaw miiynn min
wn mr zil`ivpxt
 d`eeyn `vn (a)
(x2 + 1)e2x cos 4x.z`vny d`eeynd ly illkd oexztd z` aezke



zkxrnd ly illkd oexztd z` `vn (`) .4
y
′ =

(

−3 2
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)

y zkxrnd ly ihxt oexzt `vn (a)
y
′ =

(

−3 2
−5 3

)

y + g(t)

(

2 sin t

cos t + 3 sin t

)dpezp divwpet `id g(t) xy`kd`eeynl .5
y′′ + x2y′ + 2xy = 0.x = 0 -l aiaqn zewfg xehk illkd oexztd z` `vn (`)zil`ivpxt
d d`eeynd z` miiwn f(z) m` oexzt `ed y(x) = f(x3) -y gked (a)

2zf ′′ + (z + 2)f ′ +
2

3
f = 0? x = 0 -a miihilp` zepexzt yi z`f d`eeynl m`dd`eeynl .6

x2y′′ − x(x + 2)y′ + (x + 2)y = 0illkd oexztd z` `vn ,oexzt `ed y = x -y ozpda (`).qeipaext zhiy i
i lr illkd oexztd z` `vn (a)!dglvda


